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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
T AR
= 1 6, 783, 023
ER LT
= 1 1, 818, 376
Fe AL T
= 1 1, 818, 376
I
= 1 219, 020
TAT 7 MifZE T
HLE AR (A)
= 1 219, 020
g e (OE - D) RC-40 t=150mm
m2 100 529. 2 52,920
FE (FaE - B AR EEAs (20) t=50mm
m2 100 1,661 166, 100
Bkt 1
= 1 931, 875
E¥LT
= 1 109, 775
Ll
= 1 822, 100
7" VR A MBI
PU1-B300-H300
m 100 8,221 822, 100
AL
= 1 281, 200
i L
= 1 281, 200
SREGEBEST 1)
BB-1-3(200)
m 50 5, 624 281, 200
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B 1
= 1 466, 240
[ LA T
= 1 466, 240
FERET ny ), GG LR
H 20 3, 626 72, 520
A - SFE (ST B 1A
m 40 9, 843 393, 720
TE AR Rk
= 1 58, 520
BT R T
= 1 58, 520
1)) -h
m 20 2,926 58, 520
BEBE T
= 1 1,053, 415
E¥LT
= 1 42, 221
LT FT HERE T (W &4 HAT)
= 1 1,011, 194
ek
GW36
m3 17 59, 482 1,011, 194
BRET
= 1 250, 400
T B T
= 1 250, 400
TR (A
m2 2,000 125.2 250, 400
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THEXy « T - FER - 5 AL & G EHAm #H TE (B ESM)
X R
= 1 15, 100
SN
= 1 15, 100
VA G X Ff S8 W=15cm t=1. 5mm
m 50 302 15, 100
NSV UEL N
= 1 130, 863
JRBSLERERE T
= 1 130, 863
FHE
= 1 86, 245
it 3
= 1 10, 636
M
= 1 33, 982
HEE L
= 1 1, 420, 192
e B LT
= 1 945, 980
/) ) -MEIEBUE L
m3 100 9, 158 915, 800
LB TAT7VMEREERR t=15ecmPL T
m2 60 503 30, 180
TEHR LB T
= 1 474, 212
PRauRiiig av9Y)=hik (IE57)
m3 100 2,895 289, 500
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
I TAT 7 Wbk
m3 3 2,563 7,689
ALy av9Y)=hi (JE57)
m3 100 1,694 169, 400
ALy TAT 7 bk
m3 3 2, 541 7,623
Gan
= 1 137, 822
ARmE T
= 1 137, 822
B TR
= 1 6, 783, 023
MR E
= 1 1, 466, 563
B3 TS
= 1 197, 404
BIGREsET (K3
= 1 197, 404
MR E (FEH L)
= 1 1, 269, 159
Wi
= 1 8, 249, 586
B
= 1 4, 237, 441
T AT
= 1 12, 487, 027
— R
= 1 2,412,973
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TS
= 1 14, 900, 000
THEBLF Y %H
= 1 1, 490, 000
TH#EG
= 1 16, 390, 000
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